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Matrices have a notion of multiplicative inverse

but we need to keep track of the differece between

left and right,

Let A be a matrix.
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A matrix can have more than one
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We will say
X is an inverse of A if

XA = I and AX I
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ad-be is called the determinat ofA
det EA)

If def [A)=0 Then A has an incase

Conese is also true
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but we haven't proven

that yet.
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Lipshof : If A ha a two sided invese

Ten Ax = b always has exactly one

solutions and it is given by xicA he
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then the only possible solution of Ax = b

is x = Xb .

However
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true that Y.b is actually a solution.
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XAx = Xb 13 + +(2) = = (- )= (2)
Ex = Xb

x = Xb

If there is an x with Ax =b Then x*
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Y is a night inverse

want Ax=b

A(Xb) = (AX) h = Ib = b


